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0 3.2: BeleOODOOODOOO

ggo ggo gogoobogd goon goon
gooogo
odd 2.3 cm
oooood ooooo 0.5 mm Be/ 2 mm He
(2000) /0.5 mm Be
0o 300 pm O, 3 O
ooooo ooogo r=23.0-58cm ¢: 41k oz ~ 105 pm
ood gpooog 00 =22-34cm f: 41k
oo BGO 2cm x 1.5 cm X 12 cm 6:5
gpooboogo gooogo ¢ 32
gooo =520 googo: ory = 130 pm
oogo oogo oooo =30 8.4k 0. = 200 ~ 1,400 pm
0oo oooon r =85~ 90 cm 0ooo: 20 =0.3 % /p} + 1
-77 <z <160 cm 1.5k O4pjde =6 %
god n: 100000 ~
gpooogo 1.01 ~ 1.03 12 x 12 x 12 cm 2
gpooogo oo oo 9600 feff = 2> 6
gooog gooobgo oobobooo 2280 1,788 ch K/m
FM-PMT OOODO 1.2 <p <35 GeV/e
Oopoooooa 128 ¢ segmentation or = 100 ps
ooooo Oo0o0o00o00 | r=120 cm, K/m =up to 1.2 GeV/c
oo 3 m long 128 x 2 ch
gpooog
oo CsI(T1) ~ 5.5 x 5.5 x 30cm® op/E
oooo 0oooo0o | OO 6,624(B) = Q00808) g 0805 5 1.34(%)
ooo 000 :r=125-162cm | 1,152(FE) Opos = 0.5 cm | VE
00ooooo : 960(BE) E in GeV
z =-102 and +196 cm
ood
gooood oo inn.rad. = 170 cm B=15T
bemO +4ecm00) A¢ = A = 30 mrad for K,
KrOp OO ooo x 14 0 oy =1 ns
ggo gooobogd 000oogdo 200 RPC 0: 16k 1 % hadron fakes
(RPC) 6 and ¢ strips ¢: 16k

0000000000
Bele 00 0000000000000000000000O0O0O000 20000000
0yO0OOD 2000000000000 00000000000000000200
000000 ¢0-20000000600000000 r(r=+22>+4%) 0000000
0000000000000000

20




030 0000

Csl KLM
150° ‘
SVD ﬁ /
N @ *

PID

EFC
17°

35 GeV

O 3.2: BelleOOOOOOO

21




o3000oood

3.2.1 00000000 (SVD:Silicon Vertex Detecter)

0000 -000000-000000(SvD)0D00000 (10719~ 10 Bsec) 000
0000000000000000000000000000000 BOOOOOOO
00DOO0OO0OO0O-00000000000000O0O0O0OOOODOO00000D0O000
0002000000 0,~8um00000000000SVDOOOOOODOODOOO
000000 (ChC)000000000000000D0D000000N0N0N0nOnoO
o000

, L r
SVD endview SVD sideview L»z

CDC

0 33 0000000ooo0n

03.30SvDO000 (sideview) 0000 (endview) 00003000000000
000023 <0< 139° 000000000000000000 8% 00000000
0000000000000 30mmO45.5mm060.5mm000000000000000
000000000000000000000000000000 (DSSD)00O0000
000080100140000000000000000000000000000000
(DSSD)0 000 300pm 000000 (n0)00 6pmO00 (pO0)0 2BpmO0000
00000000DSSDO000000000000 ¢00000000 0000000
000000000000000000000000000000000000 -000
0000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
oooooo

22



0300000

3.2.2 0000000 (CDC:Central Drift Chamber)

0000000000000000000000000D0 (ChbC)UoOUoooOoUoo
CDCODOUDODOOUODODO 1.50000000000000He(50%):CoHg(50%) 000
000000 (0100)0000000000000000000O000O000O0O00
00000O00000000oO0000O000OOU0OOO0 (Doooooo)booooo
gbooboboboboobodbobboobooboobooboobobooboooon
0000 (0000)0000000000000000000000OOO0O000O0

0000000000000 00000O0O0O00, 0000000 (xyODODOOOO R
00000o0ooO0O0o0o0oooOooODO0O0 (pUODOODOOO0ODOOODOOOOO

Pi[Gev/c] = 0.3B) By

D0D0D0OROOOODOOOODOD»000000000000000000000
CDCOOD0D00000D000000000 (dE/dx)000000000000000
000000000000000000340CDCO00D000O0OO0D0000DN
000D00000000000000000000 (B=v/¢)000000000000
0000000000000000000000000000000000000000
000000000000000000000000000000000
0D0000000000000000000000000 22 =0.3%/pf +1(p. 00
00 GeV)OdE/dx00 000 g8 =6%0000
CDCODO00D0035000000000000 88ecmO000 235cmO0000000
000000 17°<#<150°0000000000000000000000000
00000000000000D000000000000000D000000000000
00000000000 -0000000%00000000000000000000
000000000000000000000000000300000000000 50
0000000000000000000000000000000000000000
00D000:,0000000000000000000000000 50mrad00000
0000000000000000 20000000

100000000000 80000000000D0000 100000000000
000000000000 0000000000000300000000000000
0000000 8um ~ 10mmO0 100000 1555, ~17mm 000000000000
000000000000000000000

3.2.3 000000 -00000000000 (ACC:Aerogel Cerenkov Coun-
ter)

000000 -000000000004%ACC)00000K*0-*00000000
000000000 ACCOOOO0O00D00000«00000000000000

*00r030cmI0000D000DOO0O
‘00000D000SI0O000D00D00000O0OD 1.01-1.030000

23



o3000oood

dE/dx

35

25

15

dE/dx vs log,,(p)

1
log,4(p)

0 34: 00000 0000000000000 0UODOOOUODOOOUDDOOOO

BELLE Central Drift Chamber

2204

702.2

1501.8

790.0

1589.6

150°%__ \

-17°

880

1204

Interaction Point

y

L.

100mm

Cathode part

y

L«

100mm

O35 0000000000

24



0300000

b 00000

000000000000 00O0000000BelleDODO0OOOOODOOOOO (1.010
1.03) 0000000000000 00001.2~35GeV/cO0OOO K+tO«*00OO0O
000000oooO0o0oO0o0o0o0o0o0O (0 36000000 b0OoDooDoDoOoO 000
0000000000000 K*000000000000000000D0000000
goobooo

ACCO BelleOODOOOO CDCOODOOOOODO (O 3.6)JACCOODODODOODO ¢O

n=1028 Barrel ACC n=1013 TOF/TSC

\_80mod. =1.020 n=1.015 ooed.
" n=1. n=1. .
240mod. 240mod.

... - Y R T

: = Endcap ACC
> 4 :Qf N : n=1.030
3" FM-PMT | 228mod.
25" FM-PMT
2" FM-PMT -

v

036 0000000000D000OO0

006000000000 90000000000000000000000000000
0050000000 280000000000000000000000000000
0000000000000000000ACCOO0000000000 17° <6< 127.2°
oooo
ACCOOO0O00O0O0000003.70 ()0 (b)0000()ODO00000 (b)000O0
000000000000005000000000000000 02mm0000000
0000000 12m000000000000000000000000000000
000000000000000000000 (000000000, FM-PMT)0000
ooooooo

3.24 0U0O0O0O0OOO (TOF:Time of Flight)

TOF(Time of Flight Counter) 0 000 0000000000000 O000O0O0O K/7nO
gobogbooobobooboboobboobboobboobboobboobboob

25



o30oooo

b) Endcap ACC Module
a) Barrel ACC Module

: Aluminum container
Finemesh PMT (0.2mm thick)

Aerogel

Goretex

Base & Amplifier

Finemesh PMT FM-Phototube

Air light guide (CFRP)

Aerogel CFRP(0.5mm thick)

Goretex Reflector

03.72:0000000000000000000 20000 bOOOOOOOD)

O0OO0OTOFO CDCOOOO0OOOOOOOOODOOONOOONOONONOOOOOONoOn
000000000

TOFOOOOO0OO0O0O000000 1.2GeV/c000000000000000TOFO
0000 12800 TOFOODOOOO 6400 TSC(OOOODOODOO0OOO)0O0O00O
0000000000 TOFOOOO0 200 TSC1ODO 10000000000000
000 1.2m0000000 6400 TOF/TSCOOOOOO 34° <9< 120000000
00000000000000000000 (ECL)00000000000000 TOF
000000 TSCOOOO 15em0000000000000000O0COO0OOOOO
00000000000 TSCOODO00DOO0OO0ODONDOON0ONODls0000000
000000000000000000000000 TOFOOOO0O000O000000
ooo

0000000 Tror0 0000 Ly, 000000 = (Y) 00000000000
ooo

c-Tror E  \/m24p?
L m2\?
Tror = %th 1+(p—2>

OOO0OFEOPOmODOOOOO0O0ODOODOOOODODOOOO DOOOCDCOOODOO
goobooooooobobooooobbooooboboobbooobobooobooOog 1.2mb
00000 100psec000001.2GeV/c 0000000000 OOOOODOO Y(4S)O
O0000000oO Y% oo00o0o0

00 100 psecO 00 00OO00ODO0OOODOODOODODODOD 2mO000000O0O0O
bobobobooboobooooboobuoobooooobobobobooan
gobogbobobobooboobobboboooboooboboboboobooo
bobobobobbobuobobobuobuoobooboobobooboooboaon
ugboogod

26



0300000

00000000000 ete” - p T~ 000000000000000000 100 psec
goobooboboboobooboobobooobooboobboon

Backward Forward
|.P (2=0)
!
-940 -915 -835 -805 -725 | 1825 1905 1930
R=1250 + 2
by | TS
A
1200.5 \ PMT 40 | TOF 40t x 60W x 2550 L PMT 1220
PMT . ;
\ 420 |
AN R=1175
| 1170+ 2
-805 "TSC 5t x 120W x 2630 L 1895 -2

! 2870 -

Light guide

|

- | 20 -
|
|

PMT )| PMT -
R=12005 R= 1220

\
- N S

R=1175 [ ] R=1175

0 3.8: TOF/TSCOOOO0O

TOFOOOOOOODOOODOODODDODOO0DOOO00DDOO00OO0O0oOOoooooooon
TOCODODDOOOoOOoOoooooooooo

3.25 000O0000DO0O (ECL:Electromagnetic Calorimeter)

gbobobgoobooboooboboboobobboboobobbooobooo
gbobobooouobobooooobuoobobbobboobooboooboboo
0000000o0O00o00ooOOoOoDOD0o0oU0UODOODODODO (ECL)ODOoOoOoooo
OO0DECLOODOOOOODOOODO EODCDCOOOOOOOOODOOODO POO
O(E/pP) 00000000000 0OO0OOOUOOUOOUOOODOOODOOOOON
ooooooooob ~O0O0O0OOOO0DOOOO0 ECLOOOOOOOODODOOOOD
0000000000000 00000O0E/PO100000O00OOOOOOOOOO
000000000 (»K)OOODOODOOOODOOOOOOOO

O000000000000BelleD00000000000000000O000OO0O CsI(T1)
00000000000000000000000ooCGs(T)ODo0oooooooo™
gboboobobooboooooooboboobbobobooboobboboooboon
0000020000000100Cs(TH) 000000000 00000 5.5¢m X 5.5cm
0000 30ecem 000 (0 3.90ECLOUO Cs(TH)ODOODOO 836000000000
OOECLO0OOOOO s.obcobobooooooooo12smddd s mdooononon
gooooooooboboogog zobo+2om0-1.0mO00booogoooboonoO
oobonbi124° ~31.4°00000 32.2° ~128.7°00 00000000 O 130.7° ~ 157.1°

27



o3000oood

Side View Top View
I

I
! Holefor screw to fix
\l:i T al pl7teto Csi(T

vt U _Alplate

Preamp Box

::’::F:jm‘ ,

+ o

Derlin Screw™ " ¥ e

/—\‘/ Teflon /Al plate

-:"\ . oo oo 1

Acrylite ———s Photodiodes —

il © dle

\\\

£ Photodiode

s Jo 4

Teflon & Al CsI(TI) /

Acrylite
Holefor screw to fix
preamp box to Al plate

0 3.9: CsI(T)0DO00O000000

uboogbooobooooboooo

ECLO0O0ODOOOO00DOODOO00DO0O00000O00O0100 CsIODoboo0ogoon
ooboooo cslbooooooooooooooooobooooooooooooooo
gooboooobbooooboooobobooooboboooobbooooDD b0 xad
(0 3.11)0000 20000000000000000000O00O0O0OOOOOOO
gbogbooobuoooooogood

= - ®134%, E00DD GeV

o \/0.066% 0.81%
o @
E E1

DDDDDDDDDD@D2DDDDDDDDDDD1&NDDDDDDDD%§:LW@
0000000000000000000010000000000000000000
0oo000ooooO

000 100%0 =° - vyO0000000000000000 x°00000200 40
0000000000 20000000000000000000000000000 2
0000000000000000000000000000000000000000
000000BelleD00O00055mx55em0000000 CsID00O0O0O0O0O000O

OooboOo0oOoboOooOoooobooooobOooobooOoooDoOnoDoboDD 3Gev
000«°000000200000000000000

28



0300000

(WU

jun

W 0e W o<e ool W00 W0l W o<
R
§CBe

91961 91col
| N7z
—
——

08ceE?

0Gcly

J3/3Wwii0)n) dpIpug pIOMIO-

| 06€

J3J3WIi0)D) |34I0g

J8/8WJ0)D) dDIPUT PIDMYIDG

0 3.10: 00noooboopbgooog

29



o30oooo

s

Y /\/\/\/\/A\P.

031 joogoooooobooobogoobobobooobooobobobobooboobo
gooobooboobooooobobobobooboobooobobbobboobo
ugbodbouooooobooboooboobooooan

NN

3.2.6 UO00O0OO0oOOO

000000000 TOFOOODOOODOO0OO0OO0O(KLM)OOOOODOOO1.5000000
ooooooooooo 34midd 4am00000000OCOOOO NMOT:O0OO00O0OO0
O0000000oooODo00ooooo0oOooonD —268°CO0000000000ODODOO
000000000000 4160A00000000 3x383mmI0000000O00O0O

3.2.,7 K, Opu00000 (KLM)

BelleOOOOOOODODODOOODO KppeOOOOO (KLM) O 600MeV/c 00000
U000 K,y pyOooOooooboobooooKLMOOOooooooboooooo
ooodb 47emd00 11000000 0OOOOOOO

0000000000000 0000000000O0 RPCOOODOOOODOOODO
ooooooogoocecbcogooooobD KLMOOooooooooooooooowpD
0000000000000 0 Ky OOOooooo (booooob)ooooocebpco
gooodoooKLMOOOOoDooooobobooD Kpoogbooboboo

3.28 UU00O0OOOOO

00000000000000000000000000000000000000
0000000000000000000000000000000000000000
00010%em 25 '00000000000000000000 BelleOODOOODOO
0000000000000000 3.30000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000

30



0300000

0 3.3: 10em™2s~'00000000000000000000000O00O0OBhabhal 00
0000000000000000000D000000000 1/1000000000

oooooo | 00D (ub) |00DD (Hy) |
- — Y(48) —» BB 1.15 11.5
ete” —qq 2.8 28.
ptp~ + 7t 1.6 16.
ete™ = ete™ (B4 > 17°) 44. 4.4 (@)
ete” = vy (Ojap > 17°) 2.4 0.24 (@)
27 processes (O, > 17°, py > 0.1 GeV) ~ 15 ~ 35
Total | ~6T ~ 96

gooboooo

BeleOOOODOOOOODOOOO 3.1200000000D00000DOO0OOODOD

CDC

TOF

ECL

KLM

EFC

Cathode Pads
| Axial Wires |—>| Track Segment I—>M—>

\

\

multiplicity
}<| topology I

tlmmg >

High Threshold

Low Threshold

\

| Hit F— unit |

| Bhabha |
Threshold }<:

| Trigger Cell

Global Decision Logic

Trigger

Gatel:
—>

2.2 usec after event crossing

0 3.12: Belle DO OO0OOOOOOOOOOO

31

Beam Crossing



o30oooo

goocbcobobooobooEeECcLO0bOoooooOOoODKLMO pOOOoOooooQg
O0000TOFOUOOOOUODOOUOODOOODOOOOOUODODOOODDO GDL(Global
Decision Logic) 00000 0000000000000O0O0O0OOOODOP000000

329 000000000 (DAQ)

BeleOOOOOOOOOOOODO 3.30000000DOO0O0O0ODO0OODbOOoOO
gooooobobooolgoogooboboooobooboooobbooobooobooooo
gbobogogobooboboboobooooboboboboboboobboobobono
gbodbooboooboobuoobooobbuobuoobogbooboobooooo

Detector Subsystems

SVD| Data scanner I

coc| o1 | ToC

acc| ot  TDC
TOF| or | TbC

ECL| QT 1 TbC

KLM| MPx [ TbC

erc| ot | TDC

—»  DataFlow
—-—-»  Control Flow

e

—-="  Timing Signal L _ v

U 313: 000000000000000b

‘0000000000000 000D00000000D00D00000000NO0noOonog

32



40 0OOO0OO0

0000 BelleDOOOOOODODOOOOOOeTe” - 7t7~ 00 (00 r77- 00000
000)00000000000r - K« oty, 000000000000 0OO0OO
0O000oDo000ooOoO00ooo00ooOooO0ooooo cpo0OooDoDOoOooOODOOoOO
god

4.1 0O0O-O0000OO0OOOO0O

00000000000000000000000 /s =10.58GeV 0 ete- 0000
O0(KEKBOUOO)OOOOOOOOOO BelleDOOODODODOODODOOOOOOOOO

000000000000000000 v+t~ 0000000000000O0O00O00OD0
00000000000 1000000000000 0oO00 (boobooUooo)ooo
gooooooobogboobobooooooboboo 4200 boobogoboooDo
gboogo

(1) 000000 (efe” = efe(v))
0000 ete OOback-to-back 00000000000 DOOOOOOOODOOO
ugooobboddooobooooboobobdddodooooobbbooon
O00O000ete” wetey 000000 y0000000000000O0O eOO
00y000000000000000000O0O00O0OOO0OOO 757000
bbbt boobboobbooooboboooboboooo

(2) prp= 000 (efe” = ptu(v)
000000000000000 ptp~ O backto-back 000000000000
0000000000000000000000000000000000000
00O

(3) DODOODODO (ete™ — ¢qq)
U000 -000000 gq0d back-to-back DO D OOODOOODODOOO ¢UOD0OubdO
sgud e bobooooobobboooooood
0000000007t 0000000000000 000D00O0O000000
goopoooog

(4) BOOOOOO (efe — Y(4S) — BB, B*B)
efe- 000000000Y4S)000000000000 200 BOOO (BB)O
000000000077~ 000000000000000000000000

33



040 0D0OO

00000000000000000ete” -z000000000000DOO0
O0000000Oete -0 00000000000 OO0

(5) 00000

000000000000000000 (efe” —wete ptp Oete —eteete)

000 0000000000 (efe”

—~eteq) 000000000 ¢q000ud

ddsOogdooboboobooooboobuobobooboobuobooooouobobo
goobobooobobboboobooboobooboobboobboooboon
gbobooboobobbooboboobbooboobooboboooboon
gooboboooboobboobbooboooboobooboobooboon
goobgooooboobooboooo

0 4.1: ete-0000000000000D00O0D0O0DOODOOODOOOOO0OODOOOOOO0
gbooooboooboobooobbooboboooboooobooobooooooooooooobooooon
oboooooboooboooobooboooooooooo

ogooon ete- 0000 ooood ooon od
ogoood
oo 000 etem = rtr~ 0.92 nb KORALB [2]
("= K n ntu,0 TAUOLA | [
T~ — others)
rHr- 000 ete” =771 0.919 nb | KORALB | £
(1" — generic) TAUOLA [3]
(H)oooooo ete” —ete” 100.2 nb | BHLUMI | [
0 2)ptp- 000 ete™ = ptu~y 1 nb KKMC [5)
O 3)0oooOoo ete™ = qq(q = u,d, s) 2.09 nb QQ [6]
0 ete” — cc 1.30 nb QQ [6]
0 (4BOOOODOO ete”™ = BtB~ 0.525 nb QQ [6]
O ete~ — BOBY 0.525 nb QQ [6]
0 ete” —wete pup 18.9 nb AAFHB [7]
O ete” = ete"ete™ 40.9 nb AAFHB [7]
O (5)ooooo ete™ = eteutu™/dtd= | 12.50 nb AAFHB 7]
ete —wete sts™ 0.227 nb AAFHB [7]
ete™ = efe cte 0.03 nb AAFHB [7]
goooooood ooo
ooo ooo

000000000000 (D00000)0000000000000000000
uboboboboboobuoobooboobuobobobbooboooobobooan
bobooboboobooboobboobuobuooooobobobooboboan

gooobouooboobooboobooobo

34




040 O0D0OO

T~ 00000000000000 »000000000000000000000
gboboobobobooboboobooboobobboboboboboboboobog
000000000 «H7 0000000000000 0000O00O00O0000000
O0ete -7t~ 0000000000000 O0O0O0OODOOOOO

goooboobooobogooo 4100bbooooboooooooboboob r0O0OD
00000000000000000r =K « «ty, 000000000000O00

4.2 JO0O0O0OOO0OOODOOOOOOOUOObObOObObOOO

OO0O0O0O0ooDoOOoOgOobDBelleOODOO 20000 10000 20020 300000000
000000000000000 722//p0000000000 7+t 000O0ODOOODO
065x10° 00000000000000000000000D0O0O0O000OOOOO
42000000

042 0000000000DO0OO0O00O000

0ooo AEGEGEEE AELEGEEE
9 2000 0 10 0 020000 120 444 /fb
11 20010 10020010 40 8.132 /fb
13 2001 0 40020010 70 10.739 /fb
15 2001 0 10 002001 0 120 12.682 /fb
17 20020 10020020 30 11.181 /fb
19 2002 0 30020020 70 25.055 /fb
00 72.2 /fb

000000000000 000000000000000000000000000
D00000000000000000000000000000 (000000000
0O00DO00O0OMC)0O0DO0DODO0O0OO00O0D0OO00OD D000000000000
000000000000 0000000000000000000000000000
00000000000 00000000000000000000000000000
000
rHr-0000000KORALB/TAUOLADODOO 2380000000 O BHLUMI
O000D00ptw D000 KKMCOOOOOOBBOOOOD O 000O0OO0 (¢q) O
0 QQUUDOOD0DDOO0OOODO AAFHBOOODOODO OO OBHLUMI O KKMC
000000000000 0000000000000000000000

35



040 O0ODO

RERT—4 ETAHLA SaZL—2 T3y
Bellet® HH 25 EEAFL1SIL—4
|

T—RINE&E S X T L\ (DAQ)

T—ABERTOT 54
R EHLF EENEBIE
SF IRILEF—DBIFE
«HLF D 5t Al
‘FRIRR BB
I

@mmary Tape (DST)

Tt ERBERZERND

Mini Data Summary Tape
(MDST)

i A ERERENQ

tht M ERER

T oKty T

1
1

CPX FRE DA AL(A,) D FEHT

0417 >K oy, 0000000000

36



040 O0ODO

O000000000Q0CCoOCOOOODOODOO0OOOOOOCOGEANTOOOO
0P 000000000000 0000000000000000000000000
00000000000000000000000'0000000000000000
gbbooboobobooobobbobod

U41000b00000ooboboobooobobooooooobooooooobon
gobobooooooobooboboboboobobboboobooboboobooo
gbobooboobouoooooboobod

4.3 ete- =7t OO0
ete- >t~ 0000000
(1)DDDDDDD2N5DDDDDDD

(2) 000000 O0ODOO0ODOUOOO0OO0OO (v,)D0ODOD0DODODO0O0O0OO0D0DO0OO0O0O0OOOO
00 missing(D 0000000 O0O0O0)0000OO

gboooood
r000000000000000000 10000000000000000O0 85%0
00000300000000000 13%% 000000007t 00000

e Tt~ 00000000 10000000 (0000 O020)00000 72%

e 7T 000000000OD 10000000 30000000000 (OO0
O0040)00000 13%

0000000000000 200040000000000ete -7t 00000
0000 (85%) booooooooo

gobooboobobooobooboobobobobooboobbooboobooon
gbobobogbobobobuobuoooobobobooboobbobooobobon
gbboobooonoobboobooboooood

e JOODOODO

- CDCOSVDODOOOO0O0O00OoODOOO00oooooooooooooooooo
0000000000 z—y0000000 drd 1.0emO00 (|dr| < 1.0cm)
OO0 0oobDOo0ooooouo0DbboUdd 200dz0 £5emdnoooon
00 (dz| < 5.0em)0 00000000000 0OO0OOOODOOOOOOO
OO0 KOCDCOOOOOOOOOODOODODOOOOOOOoOoooooo
ugboogoogo

~ 0000000 B0O0.10GeVGeVODOOOOOO (P > 0.1GeV)
P,00.10GeV0000000000 CDCOOO0O0O000000O0CDCODO
00000000000000

'D000000 e e 000000000 DO0O0O0ODOOO0

37



040 O0ODO

e OODODO

- 000000000 0.08GeVODODODOODODOO
gbbooboboboobgooboobobboobooboobuoooboooobon
gboogo

- Cs[(T)ODO0UOOo0OoO0oU0bOOO0UOOoOOoDUOooOoCcbCcOObOOoOn
gobobooboobooobooboobbobbg 25emdboonoon
god
gbbooboboboobooboobuooboobobbobooobooobon
googboooboobooboobbooboobooooo

4.3.1 77000 00O0O0O1

T 000000000000000000000 efe” 77700000000
UboobOobobdBelleDODOobOoOooooobobobooooobobooDooboO
bobooboboobobbooboobooboboobooobooboboboaon
goooo

(1) 00000000 2~80000000 (2< Nypack <8)

(2) 000000000 (C|P))09.0GeVvIO0O00000ONONO00NOONONONONONONODO
00000000000000000 (X|E)D9.0GevOO000O0O00(Y|P|<
9.0GeV/c, Y |E| <9.0GeV)
000000000000000000000000000000000000

(3) 00000 100000000000000 PO 05GeVIOOOOOOO(R >0.5GeV)
gbooobooboobobboobobbooboobbooboob

4.3.2 7t~ 000 0000 2

00000000000000000000000000 (ete™ = ete (y) Dete™ —
efe yy) 200000000 (efe” —-¢q)000000 (efe — (ef)(e )ptp 0O) 0O
uoobodobdoobobobooooonbobbooooobobobbooboooboboonoo
00000000000000000000000 efe” =»7t7- 0000000

0000000 1000000000 4200000efe- 000002000000
goo0dboo0oooOobobooooooOoboobo s obobDobooooobobo
gooboooooodoooooboobooobobbooooobooooooDbo 20
goopoooood

rtr-000000000000000

e 00000000 2~400 (2< Nyow <4)000000000000000000

‘D000000000 100000 20000000000000000000000000000

38



040 O0D0OO

One hemisphere
+ + =t 2t
T—aj =TT T TV,

the other hemisphere
Ti_) 67 \_)e V‘L'

042 000000

tracks Y
2 pfinal + Z pfinal

beam

plnitial

Missing Mass

043 0000000

39



040 O0ODO

e 10000000000000O000000O0D0O0000z—y00000000
00 25cm 00 (|Vz| <25em) 000z —y0000 20000 05ecmO00000
ooo

e 0000000 ete-00DOO 35 ~145°000000

uboobuoobooboobuoobouoobuoobgo -boobobobobboboao
gbooobooobooboboobooobg

goboobooboboobooobuoobooboobobboobobooobooo
000 (Missing Mass 00000 MMOOOOOOOOO)O

b K
MM? = (ppiin — ZP%?gls—Zpgnal)Z (4.1)
gooooo
DDDOpkn 00000 ete 00000 400000 00000000000
oooo 4DDDDngna1DDDDDDD 40000000 (O 43000)0
0000000000000 000O0000O00O00O0UCObOOOoOoooOO (6, )

missing

DO00O0MMO 6,0 200000000 4400000 44-(1)0000000 4.4-
(2)-(400000000000000000000000007Y7 000000000
0000000000000000

0 44-3)000000000000000000000000MMO00000000
000000 44-(4)00000000000MMOOO0O0000000000000
000000000000000000000000000000000000007+7~
000000000000000000000000000000

000000 44-3) 0 0, 0 45° 000 145° 0000000000000000
000000 (efe” —»ete™)00000000000000000000000000
0000000000000000000000000000000000000000
000000000000000000000000000000 77 000000
0000000000000000000000000000000000000000

goooboobooboooboboobooobooboobobooboon

bobooboboobobbooboobooboboboobobuoboboboobooaon
O0000000000000000 ¢u0p 0000000000000 O0O0O0OOOO0O
O0000000200000000000000000 z-yO0O00000000 ¢open
0000000 ¢ =180° — ¢oper, 0000 (O 4.5)0

000000000000000000 (efe” —efe (y)) D0000O0OOOOO
bobobooboobobuobooobuoobobooboobobobobooboaon
000000000o0o0000 (bo0)DooOoUoDoOoOOoUOoOOoOoDUODODOoUOODOOD
dacop < 1°00000D0D0000O0DOODODOODDOOOOOOp W (y)DOOOOO
ugboogogoog

00000000000 (efe” —-¢¢)000000000000O0O0OOOOOOOO
boboboboobooobobobuobuobooboobobobobooobooaon

40



040 O0D0OO

10

(DData‘

Missing Mass (Gev)
o N A OO 0

0O 50 100 150 200
8"miss (degree)

=
o

Missing Mass (Gev)
o N M OO

044:00000000000000020000000(1)000000(2)(3)(4)00
0000000000000000000000 7t 000000000000000
0000000000000000000000000000000000000000

Ortr— 000

(3)M C(Bhabha,mumu)

0 50 100 150 200
0"miss (degree)

gbooobouodoood

=, o 3

=
o

S G N

O [rremnsvn

Missin

o

41

(M C(zsample)

0 50 100 150 200

6"miss (degree)
(49M C(2photon)

g
K1

50 100 150
0 miss (degree)

200



040 O0ODO

ptrackl

045: 00000000 dacop 0 0 acop = |180° — dopen| 0T 0T TO0 DT open 00
r—e000200000000000000

0000000 npat =nak +7, 000000000000000000000000

(npart)onea (npart)other ugboboogood Xpart = (npart)one X (npart)other gbooogod
go2000000000000 0O

BeleODOODOOOODOOOOOOOODOOOOOODOOOOOOOOODOODOO
gobobooooooboobobobooooooooobbooooobbbbboooooonoo
gooobooboobgooboon

(1) oOoOoOoOoO(CbCUODODUOOODUOOUODOO)0 200000000000
ooooogded 13°000000 TOFO 20000000000 DOODOO
gbbooboobobobobbobboobbooobooboooo

(2) DOOOD0D0OOOO0OO0OO0OOO0O0OO0OOO0OODOD 1GeVOOOOUDOODOOUOODODO
gbbooboobuooboooboobooobbooboobobo

(3) DO0O0O0ODOD0ODO0O0O0O0O0O00O0O0O0OOOOO05GeVOOOODOUOOOOOO
000 (CbcUOUOU0O00OO0O0OOOOOOD)0 200000000000 100
000000oDooOoonD 0 130000000000 0000DO0ODO0O0O0
gbobobobooboboobooobooood

iogbobooboboboboooooobobobooobobobobobbog
ubogbooboobobboobuooboobbooboobbod

000000000000000000000 efe” —7H7- 000022.71 x 10° 0
gobgbobobobobobuoboboboobobobobooboboboboosbde
ugboogg

00000000000000 4600 4700000000ete” —7t7 0000
000000000 2-prong 00 (DOOO0O 000 10000000000 OOCODO

42



040 O0D0OO

0000000 000000O00O0D 2000000000)00000000O0O 70O
o7y, 0000000007 s etry, 00000000

0 46: 7t~ 0000000 (xz00)0000 O 4.7: 777~ 0000000 (x-yO0)00O 4.6
O00r O7—-mry, 00000707 - 000000 xy000000000O0000O0
ety 00000000 ooooooooooooo

43



040 O0ODO

4.4 Kooy, 00000000 DOOOOOOOOOO

0000000 ete »7H7 000000000, 03000000000000
0 (r—— (3k)"1»,)00000000000000000000 7 —-K 7 nty,00
000000000000000000 (000000000 41000)0

44.1 OUO0O00OO0OOOO

O00000ete” =777 000 ete- 000000000000 200000000
do0odooobooboooooooboooboooboooobooboobobOoooooboa
000000o0oD00oO0DoOooDoo0o0bOO0oDOooDo0ooooooDoooooon
3000000~ —=@3h)~, 0000000000000 DOODOOOODOODOOOOD
O~ =K« rty, 0000000000000000O00O0O0O0O0O0O0O0OO0O0OO
00000007 -« oy, 00000000000000O0O0O0O0O0O0OOOOO
0000 45000)00000007 = 3k nr’, 0000 2°0 10000000
O0KgO 10OOOO0O0O 7'_—>K57T_I/TD|:|D|:||:|D|:|T_—>pI/T—>7T_7T0VTD|:|D
00do0doodoDodooDOooodoboDooboooDo0ooDooDooDoonoooooon
0oodoooboobooboobooooooog

44.2 °01000000000000

000000 100% 0000 200000#° /000000000000 2°0
00000000000+ 0000000000 v00000ete” »7t7y 0000
0000000000000000000000D0O00O0D yOO0O0DODOOOOOOO
00000000000 00000000000 ECLO0000000N00NONOoooaon
000000000 ECLOO00000000000000000000000000a
00000000 100MeVOOOOOOOOOECLOOOOODOOOOOOOOOOODOO
00000D000000000000000000000007™ = (3h) nrv.(n=1,2)
00000 A000000000000007- = (3R)~, 000000000 ODOO
0000000000000 0000000000000000000 (0.2GevODO)0O0
0000000000000000O0O00O00

0000000000 0000000 (Ey,)000000000000D00000
000000000 ExGeVOOOOODODOODODOOOOOODOODDODOOOODOOO
000000000 30000000+x°0000000000000000000000
02Gev 0000000000 DOODOOOODODOOOOODOOOOOOODOOOOOD

44.3 1t > 7rt7%, 00000

™ - 2%, 00000000000 (25%) 00007F — of2%, 00 (v —
pty,) 0000000000000 D000000A°000000 200000000
00100000000000000 (ete”)000000000000O00O00DOO
D00000000000000000000000000000 M(e)=0.51GeV 00

44



040 O0ODO

000002000000000000000000000 y—ete- 00000000
googo
googog

() 0000 (000)00000000000000000 VOOOoOo (,00)00
Doooooooooo

(2) ,0000000000000000000

3) ,00000000000000 ((00)01.5em 00000000
(4) zy00D0000 V000000 (Lgy) O Ley >20em 000000
(5) yOODODOOO < M, ,+(Ks) <510MeV 000000

000000000 y—ete O0O0OO0OO0OO0OOOOO

444 KsOOODOODOODO

¥ 5 Kenty, DOODOD0OKgD 069.2% 0000 ntr 000000000 OOOO
0000000000000 D0000000000DDO0D00 #00000000ODO0O
K¢O0DODDDODOOOOOOOOOOOO K¢ODDODODDODOOOOOOKsODODODO
0000000000000000000 (0.09x107)00000000000000
0000000000000 000D0000000000 KsOODODODOOO KgOO
0000000000 D000000000000000000000 «~t7x~ 000000
goooooooog g

() 0000 (000)00000000000000000 VOOOoOo (,00)00
Doooooooooo

(2) v, OOUOoooooooooooooooo

3) ¥, 0OOOOOO »0+ 0000000000000O00000 200000
00 (z45:) 0 1.5 em 00000000

(4) zy000000 V000000 (Lgy) O Lgy >0.5cm 000000

(5) a7~ 00000000 490MeV< M,—,+(Kg) <510MeV OO DO00O0

45 Kooty 0OOOOO O0OOODOO
000000000000000000
(1) 000400000000

(2) y—ete OODOO

45



040 O0ODO

0 43: 0000 IDO000O0O0O0O0O0O0O0O0O0O0O00O0O0000000000000 (44.4)0
0000 KsOUOOOOOO (Do 3)oooooooo

mode | X| | X, | X3 oo ooo
1 7~ | 7~ | 7t | Pi(n/K) 2 0.6, P(7/K) 2 0.6, Ps(n/K) = 0.6 | 2,372,534
2 K |« nt | Pi(n/K) <0.1,Py(r/K) 2 0.6, P3(n/K) 2 0.6 | 178,464
3 | a0 | K| ot | Pin/K) 206, Py(n/K) < 0.1, Py(n/K) = 0.6 | 87,434
4 |7 | 7 | Kt | Pi(n/K) 2 0.6, Py(r/K) = 0.6, Ps(r/K) < 0.1 | 107,890
5 | K | K| ot | Pin/K) < 0.1, Py(n/K) < 0.1, Py(x/K) 2 0.6 | 10,275
6 | K- | x | Kt | Pi(n/K) 206, Py(r/K) <0.1,Ps(n/K) <0.1| 36,794
7 | a0 | K- | Kt | Pi(n/K) 206, Py(n/K) < 0.1, Py(n/K) < 0.1 | 14,285
8§ |K | K | Kt | P(r/K)<0.1,Py(n/K) <0.1,Py(n/K) <0.1 | 4,864
9 model~80 0000 073,755

(3) 000 KsOOOOODOOOOO

000000000000 7 — (3k) v, 000000 6,164,7330000000000
0000 > K rrty, 00000000+*0 K*OOOOOO0OOO00O0 3000
00000 BelleOO »*0 K*OOOOO0OO3000000000000000000
0000000000dE/dX00 TOFOOO0000000000000000000
000000 0000000 P(x/K)0000000000 #0 KOOOOOOOOO
00000 300000000000000000000000000000 K*OO
0-*000000000000000 43000000090000000000000
0000000000 mode 1020---09000000000000 7 — K- r 7t v, O
mode 20 mode 30 00000000000P(x/K)0 100000 K*0OOO o0
000000000 +*0000 K*00000D000000000000 P(r/K) 2 0.6
000 ~000P(r/K)< 010 KOOOODOOOOOOOOOO
000X, 0X; 00000000000000000000000000 X7O0X; 00
D00O0O00OO0Omode 10000000000 00000000OOOIDOOOODODO
0026580800000 7~ K nty, 00000000
00000000 Kg (#t7)0000000 4800000 48000000000
0.5GeVIO0 7~ —» Kgr v, 00000000000 K¢OOOOOOOOOOOOO
00000 KsOOOOOOOOO00000000000000000000x»- 0000
00 KsOOOOOOOOOO00000000000000485MeV< M, -+ <515MeV O
0000000000000000470MeV< M, .+ <530MeVO 0000000000
0000000000000000 4.80 485 < M,—,+ <515(MeV) 000000000
049000000000 M, ,+.00000000000000000000000000
000000000 44000000 10 (444)00000000 KsOOOOOOOOO
0000000000 203000 485 < My—+ < 515(MeV)0470 < M-+ < 530(MeV)
000000000000000000000000000000 KsOOOOOOOO

46



040 O0ODO

histgrams
> 7000F —— data
8 B B —v.3n
g 6000 o 1oV 3nn
o - B VKK,
c B
S 5000F- B other T decays
L N uds & charm
4000
I
B ,,++"++
~ +
3000/
-y +
[+
M
2000

1000
O *‘|'+!4——I»rlfl.,lF.L
04 06 0.8 1 12 14 16 1.8
M(rt ") (GeV)

0 48: 00000 «*00000 M,-,+ 000000000000 7+ - Kynty, 000000

00000 30470 < M-+ <530(MeV)) DOOODOOOODOOODOOOOOODOOOD
o300bobbooogbobob11dbib0 KKgbobobooooooooooo
ooooodbo D00 KgODbobooooboobooooooobooouobobo Ky
gbbooboobobooboooboobobbobooboboobooobo

47



040 O0ODO

histgrams
% 7000 — data
9 C :ﬁ B V.3
S 6000 h I v, 3nn°
i i
% C p ! B v KK,
é 5000~ : . [ other t decays
. - uds & charm
4000~ |
N
O o't
3000
:;
2000

1 I L1 1 I | - I 111 I 11 | 3 L i ey Lo I o -
002706 08 1 12 14 16 18
M(r ) (GeV)

049: 00000 «*00000 My—,+ 000485 < M,—,+ <515(MeV) 0000000000

0 44: K,00OO0D0OOOOO0O0O0O00O 20 485 < M,—,+ <515(MeV) 000000000
00000030470 < M-+ <530MeV)0 O OO0O0O0O0O0O0O0O0OODO0O0O0OOOOOOOOO
00000000 KsOOUOUOOOOO0ODOOOOD 3(470 < M-+ <530(MeV))ODODOOO
gbooooooboooon

0o Ooo1 002 003 |00 %)
OO0000 O | 265,898 248648 235504 | 88.4
MC(K2r) 82,650 76,911 71,567 86.6
MC(37) 85,007 82,613 80,194 94.3
MC(37r?) 8,325 7,718 7,093 85.2
MC(KKg) 9,633 3,920 1,539 16.0
MC(K27rr0) 4,730 4,410 4,113 87.0
MC(2K ) 5421 5,159 4,843 89.3
MC(others) 12,333 10,075 8,872 71.9
MC(uds) 79,900 74,547 70,392 88.1
MC(charm) 18,269 16,697 15,596 85.4

48



040 O0ODO

histgrams
> 7000F ——daa
g E +:+++ = :::i:no
Q' 6000— | t
@ : L B VKK
§ 50005 b [ other T decays
w - uds & charm
4000
o
Ot
3000
_+
0 1 I 111 I 111 I 11 1 I 11 1 3 - I 11 1
04 06 08 1 12 14 16 18
M(rm*)(GeV)

0 4.10: 00000 7+ 00000 M,—,+ 000470 < M,—,+ < 530(MeV) 0000000
ooo

49



040 O0ODO

0000000000000000 23550400000 7~ —= K o nty, 00000
gboogboooboboboboobooboboobobooboobbon

T sy, 43.0%
o, 3.80%
7 = K Ksv, 0.83%
> K o a1, 2.21%
T K K'n v, 2.60%
ete” = qque (¢ =u,d,s) 16.5%
ete™ = cev, 2.47%

0ooo
00000000000000000 (Lge) 00000000000000(7 : £,0
qq(qg = u.d.s) : LOce(charm) : L) 000000000000 00O0O0O0OOOOOO
00000 Laate = 63.847(fb~1)0 L, = 50.56(fb1)0 L, = 174(fb- 10 L. = 116(fb 1)
O00000000D0000000000000000000000

['data

— 1.263
L,

£ ata
dota _ 0.5504 O (4.2)
ﬁq

ﬁdata
— =0.3727
L.

D000000000000000000000000000000CcPooOn 49,0
00000000000000000000000000000000 7+ K 7 atu,
00000000000000000007 »r 7 7T, 0000000000000
000000000000000000300000 0000000000 (mode 1)
0000000 3r0000002,233,4920000000 (K¢0OOOOOO (00 3)
000o0o0)o

50



040 O0ODO

4.6 Kooty ,00O0DO0O0OO

0000 K n oty 000000000000000000000000000
04110 K-~ »t0000000000000000000000000000000
000000000000000000000 v~ »an «ty, 00000000000
0000000007 »an a2, 00000000000 7 - K Kgv,000
00000000 »~0000000000000000 ete” — ¢ (¢=u,d,s,¢) 00
00000000000000000000000000000000000000 (O
000 (42)00) 0
003000000 (K »«Y) 000000000000 20000 (K-xt0 7 7t)
0000000000000 41200 4130000
Mg-.+0000 K*890)00000000000000000000M,-,+0000
770MeV OO0 p(770) 00000000000000000470 < M,—,+ < 530(MeV)
000000000KsO0O0000000000000000000

histgrams
- — — data
S B o B —>v.3n
N wt
§ 5000~ ++++H+ ’f+++ i t—v. 3
: T
L 4000 . s B other Tt decays
L - f uds & charm
3000[—
2000/
1000
O B 1 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1
0.8 1 1.2 1.4 1.6 1.8 2

M(K ) (GeV)

0411 M(Kr7)0OOOODOOODODOODODOODOO0OOOOO0OO0OO0OO0OO0DO0O0O00O000O0O00OO0
000000 -7 o 77y, 0000000000000000000 7~ =7 7 a77%,0
dooodooooDooooooooood - =K Key, 0OODOO0ODOOODODOOODOOO
000~ 000000000000000000000000 eTe™ =47 (¢q=u,d,s,c)000
ooooono

ol



040 O0ODO

histgrams
% » — data
O 10000 * B ~—v.3r
§ . ', M v 3
> R B VKK,
§ 8000_— + . [l other t decays
w o uds & charm
| +
6000 b
L *
4000 ! :
2000—
0 i 1 I 1 1 1 I 1 1 1 I 1 1 1 1 =
0.6 0.8 1 1.2 1.4 1.6 1.8

M(K 7t+)(GeV)

0 4.12: M(K-«")0000000000000000000000000000000000
0000000+ »7» » «ty,0000000000000000000 7 -7 7 7rrly,
00000000000000000000 r— »K-Ke, 0000000000000000
0000 - 0000000D00000000000000000 ete” —qq(q=u,d,s,¢)00
00000000 890MeVO OO K*(890)0 0000000000000 00OO0

histgrams
> 7000F — data
> C
3 - 4 B v
g 6000 ! i v, 3nn°
2 - VKK,
§ 5000 [l other < decays
- - uds & charm
4000
- “*
Ot
3000 _—ﬁ‘
[
2000

0 4.13: M(=*+»")00000000000000000000000000000000000
000000+ -7 7 oty, 0000000000000000000 7 a7 7 7', 0
0000000000000000000 r— - K Ke, 000000000000000000
00 - 000000000000000000000000eYe” —qf(g=u,d,s,c)00000
0000770MeVO 00 p(770) 0000000000000 0000470 < M,—,+ < 530(MeV)
000000000KsOOOODOOOOOODO000O0O0OO0O0000

52



050 CrPUOOOUOOON

0000040000007 =K r~nt», 00000003000 cPO00n A%,
00000000000

5.1 AY 000000 CPOOOO

0200000000 CPOOOO Ag)PDDDDDDDDDDDD

0, = 1 / L 9.8 - L g
CP=r4r dQ?dsdsodryd cos fd cos O ’ — dQ?ds dsodryd cos fd cos O

x dQ?ds dsodryd cos Bd cos 0 (5.1)

= i [(Z69) - (247).] 5.2

D00 CPODODOOOOOODODOO ¢@W(y,A00000000000000 40
000000 41000 -10000000 21000000 4=1,2,303000
CeOO0D0OODDOODO sinfsinyOsinBecosyOcosf 0O D DOODOOOODOOOO0O
A(CZ;)PDDEIDDDD (5.2) 0000000000000 DODDODOOOOOCOOOON,-O
=K rty, 00000000ON+O07F = Ktatr p, 000000000000
O7r 07700000 N,.- =118,418+3440 N+ = 117,086 £3420 0000000
(N,- =N,+)/(N,- + N,;+) =4056% 0000

m000000000000000000000000 nbgzo.ﬁlﬁmmmm<zg(i>>
j

.
07 = K nntv.O (Zg@) O+t Ktrftep, 000000 ¢®O0ODODDDO
i +

[HEERN
dA(l)

ooobo3o0oouoooouooboouoobodn g~ 0o00ooooooon

MO0O0000O0O0O0O00 Mg-,-,+0000000000 Mg-.+0M,-—,+0000

dAY 1 / /
cpP _ (2) _ (4) 5.3
D T NI AN | (2 20 >3

T T+

oo j0O0000CCCOODOO0O0DAMOOOOOOOOOOOODODOOO

ooo3booo ceobobooooo MOoooooobooo9bobOObOUODbDOODO
god

93

)



Os50 cpOoOOoOooOOO

5.2 Al,000000

sinBsiny 000000 CPOOO0D AN, 000000000 Mg-p—ps 0 Mg—ps O
00 M,-,+ 00000 5100000000000000000000 (g = 0.616) 0 O
00000000000000
Mp—p—p+ 0 1.5GeVOOOODO0O Mg+ 0 1.1GeVOIDOOOOOD 2~30 000000
000000000000 00000000000000000000000

0.08

/dM (GeV™)
o
o
D

o
o
=

)

dA e
o
o
™)

-0.02

-0.04

-0.06

(=]
TTT‘TTT{TTT{TTTTTT{TTT‘TTT{TTT
]
-
=
b
-

ooghbmm

0.08

0.06

0.04

&) .
dAG/dM (GeV™)

0.02

-0.02

-0.04

-0.06

ooghlmn L d

0.08

0.06

0.04

@ .
dAG/dM (GeV™)

0.02

-0.02

-0.04

-0.06

0087 0.4 0.6 0.8 1 1.2

0 5.1: 00 Mg-p—n+0 Myg-r+0M,—+ 0000 CPOOODO A% OsinBsiny000000
0000 CPOOODOODOOOO0OOND0DN0DN0O0D000000 (g =0.616)00000
00000000000

o4



Os50 CcpOOOOOonOnO

5.3 A%, 000000

sinBcosy0 00000 CPOOOD AR, 000000000 Mg—p-pt DMpg—ps OO0
0 M, ,+00000 5200000000000000000000000 (g, = 0.616)
00000000D00000000
Myg—r-r+ 0 12GeVO00000Mg-,+ 0 1.2GeVOOD0OO0D0 1o 0000000
0000000000 00000000000000000000000000

0.08;

0.06!

)/dM (GeV)

0.04

)
ci

dA,

0.02

°
—.—

-0.02

-0.04

-0.06

ooghbmm

0.08;

0.06!

)/dM (GeV)

0.04

)
ci

dA,

0.02

-0.02

-0.04

-0.06

T Y I Y T S S S S [T TS TSNS S MY S S
00855 . . . 1.6

0.08

0.06!

0.04/

@ ~
dAZ/dM (Gev)

0.02

-0.02

-0.04

-0.06

-0.0g I I I I

0 5.2: 00 Mg-p—p+0 Myg—p+0 M-+ D000 CPOODOO A®LOsinBcosy 000000
0000 CPOOODOODOOOO0ONONDOONOOND0ON00D00 (g =0.616)00000
Ooo0O0O000ooo

95



Os50 cpOoOOoOooOOO

5.4 A% 000000

cos 000000 CPOOOD AY, 000000000 Mg—p—ps D Mg—pe 00D
M,—,+00000 5300000000000000000000000 (g = 0.616)
0000000000000000

M-+ 0 K*(890) 0000 (0.8~0.9(GeV)) 000D D0OD CPOOOODOODO
00000.75~0.90GeV O 3000000000 A%, 000

AB) = 0064 £0.020  (0.75 < M-+ < 0.90(GeV))

gbooobod3les00oboooboooboonog

5.5 0000000000 K ««t00 K'otx-OOOOOOO
HEN

000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000 1% 0000
0000000000000000000000000000000000000000
000CPOOOOO00 (Even)0000000000000000000000O0
000000000000000000000000000000 7700000007
000000000000000000000000000000 1000000000
000000000000 CPOO0O0O0O0O0O0O0ONONOOOOOOOOOOOOOOOO
0000000000070 7 0000 Mg—p—psOMg—,+ 000 M,—,+ 0000
Dooo0o0o0++0+. 00000 A%, 00 54000000000000000000

0000000000000 Mg-ppt O Mp—s0M,—+0000000A4W O

Fven

Ay _ (AN| _aN L
dM — \dM | dM|.) N+ N+
1 ! !
(NT* +N’r+)(1 _an)AM ; ;
T Tt

gooooooo

Mg . +00000001.0~1.5GeVODO0000OOODOO YO O00O0OOOO
0000000000000 000000MK-.+0000000 890MeVOOO K*(890)
0000000000000007"07- 0000000000000O00O000O0000
M. - +000000003GeVOOOOOODOODODOODDODODOODOODODOODODOODO

uboobuooooooobobboobboboobooboobuoobobboooobo
gooobooobooboooo

56



Os50 CcpOOOOOonOnO

-0.02

-0.04

-0.06

o
RN R RARE RN R
9

ooghbm

0.08;
0.06!
0.04
0.02

/dM (Gev™Y)

@)
cp!

dA,

-0.02
F o=
-0.04f— l
-0.06 } =
-0.08f
0.1
-0.12

-0.14

1.6 — ‘1.8
M, (GeV)

0.08

0.06!

/M (GeV)

0.04/

®)
cP

dA

0.02

-0.02

-0.04

il il
0083 0.4 0.6 0.8 1 12 14

0 5.3: 00 Mg-p-nt0Myg-rs0M,—+ 0000 CPODDODO A% Ocos3 00000000
00D CPODOOOOODOODOONOODODODNOODOODO00 (m=20616)0000000
ooooooooo

o7



Os50 cpOoOOoOooOOO

< e ~ 0.08[
3 - S I
8 - : = 3 r
8 12000—W¥- 1 2 0.06f
S = s F
S - = I
A + < 0.04
Z 10000 A by == S 6 F [ _l_‘
s - 3 o002 ]
8000} - I 1
- X oF gres T
6000 - F 1
- 0.02
- == r
4000 - . I
- =2 o 004
2000 - - o.06F
u e e
L et C
%6 0.8 1 1.2 1.4 1. 18 0.08 0.8 1.2 14 1.6 1.8
M. (GEV) M. (GEV)
= ~ 008
§ 20000 _ > r
n E - [ -
18000 T © o006
S E e v s EoT T
= 16000 = 0.04f
H E A T+ s F
T 14000F = I
5 E . 3 002
12000 I 1
= F —e—
10000 = - oF T
8000} 0.02F
B - o 002"
6000 r e
= A - -0.04f
4000 F
E re— -0.06
20001y - g
%6 o8 1 1z 14 16 18 00855 0.8 12 Ta 16 8
My (GEV) My (GEV)
16000 ~ 0.08f
5 1600°F - ¢k
& F 3 -
& 14000~ T S 0.06f
s = s -
S C 5 s
s 12000 i T :35 0.04}
El = =8 s
S 10000 - 3 oo02f ]
E - o) 8 4rd I :
8000 X of + 1 t
C o) =
6000 -0.02f
C B -
4000} - -0.04f
= o -
20001 -0.06f
P by s
ok R R EU R s . - 008k
02 04 0.6 0.8 12 14 1, 0087 0.4 0.6 0.8 12 T
M. (GeV) M, (GeV)

054: 00007070000 Mgy etOMg—,+ 000 M, .+ 00000000000
ooooooooooog A% O

Even

o8



Os50 CcpOOOOOonOnO

56 T ooy, DCPOOO0OODOOOO

0000000000000+ K 7oty 00000000000000000
0007 »n 7ty 000000000 CPOOOOOO0OO0OO0O0OOD0O
00000000 mode 10000000 223349200000 7~ »n n nty, 000
Dooooocpooon A%, (1=1,2,3) 00000000 5500 56000000
00 K-« «t000000000000000000000000000000000
0000000 100000000 K-O00O00000007 w7 7 nty, 00000
OO0sinBsiny 000000 CPOO0D0 A%, 0 My pi D Mg D00 My OO
000 55000000000000000000sinBeosy000000 CPOOODO
A2 0 Mg+ O Mg+ 000 M,—,+ 00000 550000000000000
000000000000000

~ 008 ~ 008
>
3 3
S 0.06f— S 0.06f—
s s
= o004 = o004
20 535
3 3
0.02f 0.02f .
— —
0 0
0.02~ 0.02~
0.04f 0.04f
0.06 -0.06f
0.0! L L L L L -0.0! L L L L L L
0.8 T 12 17 76 T8 : 0.8 T 12 T2 76 T8
M, ... (GeV) M, .. (GeV)
~ 00 ~ 00
2 2
© 0.06f € 006~
s s
= o004 = o004
20 80
3 3
0.02F 0.02F e
—t — —
o §o — . o srdrgrd ——
e
i
0.02- 0.02-
0.04 0.04
0.06 0.06
0.0 L L L L L L 0.0 L L L L L
0.6 0.8 T 12 14 16 Tg 0.6 0.8 T 12 14 x T8
M, . (GeV) M, . (GeV)
~ 008 ~ 008
3 3
S 0.06f— S 0.06f—
s s
= 0.04f— = 0.04f—
3 D S .
© 0.02f- e © 0.02f- T ——
i S E e i
oF PO 3 o1 ares —
=3 I
0.02~ 0.02~
0.04f 0.04f
0.06 0.06
0.0 E ! ! ! ! ! ! 0.0 E ! ! ! ! ! !
%2 0.4 06 08 T 12 T4 %2 0.4 06 08 T 12 11
M,..(GeV) M,..(GeV)

055 00007 »r 7 7ty, 0000 CPOODD AY,00000CPODOOD AZL0D
00000000 7~ K- nnty,”0000000000000000000000000
000 Myg-p-nt0 Mg-+0M,—,+ 000000000000000000000000

99



Os50 cpOoOOoOooOOO

= rrty, 0000000cs 000000 CPOODD AR, 0 Mgy ptD
My .+000 M, 00000 5600000000000000000000000

.
oooo AY 00 560000000000000000000000000000

Fven
~ 008 ~ 008
2 F 2 F
S 0.08[— S 0.08f
= o = o
= 004 S 004
8y F s F
< o B F
© o002 3 o002f 5
of of JORUOUR BRI s £1 s s Lol o
F F herd T
r ——— . I
0.02f 0.02f
0,04 -0.04f
-0.06f— -0.06
- L L L L L L L
0.08 0.8 T 12 12 16 18 008255 0.8 T 12 14 16 18
M. (GEV) M. (GEV)
~ 0.08F ~ 008
3 006 3 I
S F S 0.06fF
s 0.04f- s E
op 0.02- = 0.04
< Foren =8 r
R S 3 oo0zf ST
0.02f g F e
E of s et er0r010y, ron
-0.04f E = RO
-0.06 -0.02 :
-0.08F F
F 0.04
0.1 I
0.12F -0.06 |
014 ! ! ! ! ! 0.08 E
0.6 0.8 T 12 T4 16 T8 : 0.6 0.8 T 12 T4 76 T8
My (GEV) My (GEV)
~ 008 ~ 008
2 F 2 F
S 0.08[— S 0.08f
s r s o
= 004 S 004
88 = -8 =
< o B F
© o002 3 o002 i
= —— o 5 Bkt
oF 3. rox oF g al®13. Liegrites e
- e = - -
F i 3] I
0.02f —_ 0.02
0,04 -0.04f
-0.06f— -0.06
L L L L L L -
0087 0.4 0.6 0.8 T 12 T4 008==57""07 06 08 T2 14 16
M. (GeV) M...(GeV)

0 56: 00007 » 7 a nt», 000000 CPO0D00D0 A% 0cosg0000000OCPD
Oo0O0O00O0OO0Ooooooooooooooo AY pooooooooooOoOooo

FEven

000000000000 Mg-p-pt OMg-r+0 M-+ 0000000

DDDDDDDDDDDDDDDDDDDDDDCPDDDDDAgﬂAgﬂA@ﬂD
D000D00000CPOODDOOON (even)000OD0O00OD000 A4S Doooo

FEven

gboooboobooobobobbobboobooboobboobuoobobod

60



Os50 CcpOOOOOonOnO

0 b5.1:0CPO0OODO ACP

CPOODDOOOOO | CPOOOOO 90%0000000

sin B siny —0.021 +0.0053 | —0.029 < A%), < —0.012
sin 8 cos 7y ~0.0050 £ 0.0053 | —0.014 < AY), < 0.0037
cosy 0.0065 +0.0053 | —0.0022 < A%, < 0.015

57 7> K ooty 0000000 CPOOOO

0510CPOO0OOOOODOOOOOCPOOOODO W% 000O0O00O0OOOOO
00000000000 0.5%00000 9% 000000000000000000

5.8 UOUUog

"= K raty,0000000csf0000 CPOODD A%, 00000 3.100
00000000000 K*890)0000000000000000000000 CPO
0000000000000000000000 -0+ 0000000000000
000000000000000000000000000000000000000

() 0000000000000000000
(2) 00 CPOODOOOO0O (Even)0000000000000000000000
(3) 000 BelleDOOO (00D 100)0000

00oD000O00o0o0ooOoooooo0ooooD cpOo0DOOOOOODODOODODDO
gboboobooboobooobobooobooboobboooon

61






el OO0

000000722/ 00000000 =K nrty, 000000 CPOODOOO
0000 BelleDOOODOOOOODOOOODOODOD 2000000 2002000000
00000002300 00000 7 K o« «ty, 00000000000

gooobocpObOOOO0DOOOOOOOOObDOOOOOOOODOOODOOOOD
0O00oo0O00ooooo 3000 CcpO00DOO0O0OOOOODO0DD Mg-.+000
oo0ooooocepO00DOOO0O0OOOOO0OOOOO0ODOOODOOODOOOOOOOO
00000007« 07 0000000000000000O0O0O0O0OOOO0O0O00
gboboboooboobboboobbobboboboboobobbobooobo
goobooboboboob mrr00O0O0D0OO0ODOOO
OO00DO000O00C00b0OoO0OO0ob0g BelleOOOoOooooooooOo oobb100O
000ooo00DOo00oOoO0o0ooooo cepO00OOOO0DOODOOOOOOOOO
god

63






HREN

boboobobdoboobobobooobuooobobobobobuobooonboon

gobboopooooobobbooboobooboobooboobooboboooo
gbbooboobouooboooboobobbooboooboobooobobn

gobotb400o00oboooooboboboobooobooobbogboobogobooo
gobobooboooboboboboboboobooboobooooboobooobbog
gbobodobobobobodbobbobooboobooboboobobobon
gboboobooobuoboobooobobobobooooboooooboboobooo
gboboobooboobobbobog

gbogbooboooooboboobooboobuooooboooboobooooobogoog
0000000000000 00000000O000 Belle Collaborator 00 OO0 OODO
gbbooboobooboooboobouogbooboobobobobbooboobo

ubobobuoooooobobboobuooboobboobooboooobooooon
gbbooboooboobobbooobuoobooboobooboood

65






oo

[1] Ken Kiers, et al. CP violation in 7 — Knrr,. Phys. Rev., Vol. D78, p. 113008,
(2008).

[2] S. Jadach and Z. Was. KORALB(v2.4), Comp. Phys. Commun. 85, 453 (1995).
64, 267 (1991);36,191 (1985).

[3] J.H. Kiihn, S. Jadach, and Z. Was, Comp. Phys. Commun. 64, 275 (1991). 70, 69
(1992);76, 361 (1993).

[4] S. Jadach et al., Comp. Phys. Commun. 102, 229 (1997).
[5] Z. Was, S. Jadach, and B.H.L.. Ward, Comp. Phys. Commun. 130, 260 (2000).

[6] CLEO Collaboration. The QQ B meson decay event generator. See
http://www.lns.cornell.edu/public/CLE0/soft/QQ.

[7] P.H. Daverveldt, F.A. Berends, and R. Kleiss, Comp. Phys. Commun. 40, 285
(1986).

[8] hep-ph/0312240 (unpublished);Z. Was P. Golonka et al. and P. Golonka, Nucl. Phys.
B (Proc. Suppl.) 144, 88 (2005).

[9] R. Brun et al., GEANT 3.21, CERN Report No.DD/EE/84-1 (1987).

[10] D.Epifanov et al.. Sutudy of 7= — K n~ v, decay at Belle, The Belle Collaboration
(2007).

67



